1. Write T (true) or F (false) next to each statement.

a) Twitter only allows 140 characters in a Tweet.|

b) You can only have a conversation about what's happening in the world in Direct Messages.

¢) Twitter has less followers than Facebook.

d) Twitter hasn't spent any money on making messaging services more user-friendly.|

e) On Twitter you can only accept private messages from people you follow.

2. Answer the questions below.

1) Why did Twitter change its policy on Direct Messages?

2) Why do you think Facebook has more followers than Twitter?

3) Which social media do you use the most frequently?

4) Do your parents use Twitter or Facebook? Why / why not?




